2013-01-06

F14[m 5 FrLYY 953795977 WEATHER : Fine
CHALLENGE CLUB COURSE : Dry

B Gr. Time Attack 1[E]1H

Lap Time Chart EfRL—2203—X

36 C5R# tt & KB ABAM4354VUGT-R PIT:1H

1= 2= 251937 3= *246.945 4= 250894 5= P3'39.489
37 C5RE ¥ EMEZ=LCHEDET . 127 L yYWRX PIT: 1[
1= 2= 325299 3= 326123 4= *317.996 5= P4'17.634

38 C4RH H# £ RX-7 PIT:1[H

1= 2= 2'44.176 3= 2'45.333 4= 2'39.183 5= *2'37.371 6= P3'55.164
39 CARfF B ERVASULMBORE £ .EENET ! HL52PT:1E
1= 2= 3'12.933 3= 3'13.146 4= *3'03.798 5= P3'32.388
40 CIRHE H REBAEFECONMIICHAFHETT, O0-FRA53—-PT:1H
1= 2= 3'07.314 3= 3'07.559 4= *2'58.104 5= P3'45.206
43 C3RF X #H A E30M3 PIT:1[H
1= 2= 2'48.849 3= 2'48.100 4= *2'45.417 5= P3'10.638
45 C2R# )L H A FTO PIT: 1E
1= 2= 3'16.630 3= *3'02.277 4= P3'50.330
46 CS5RE EBE #MAEARRF L HEE--THE—, ADM45142GTRPIT:1H
1= 2= *2'56.315 3= 3'01.074 4= 3'01.480 5= P3'42.604
47 C3R#® R 32 E M 5 h )V RX-8 PIT: 1E
1= 2= 2'58.313 3= 2'46.006 4= *2'44.565 5= 2'46.573 6= P4'21.837
48 CCRe H X sh#f D F DEvD YEYY PIT:1[H
1= 2= 3'07.765 3= *2'57.509 4= 3'17.800 5= P3'32.664
49 CIR# R I H© # Viz PIT: 1@
1= 2= 3'14.033 3= 3'08.874 4= *3'05.164 5= P3'30.460
50 C2RiE KT 477 35PT1E
1= 2= 2'52.030 3= 2'47.931 4= *2'45.260 5= P3'23.283
51 C2R%#E %k X % 86 PIT:1H
1= 2= 2'54.783 3= 2'49.568 4= 2'50.400 5= *2'47.731 6= P4'26.469
52 CZRA & B —V739yYalBLVRB ELCHKAEDET . 410775 PT:1H
1= 2= 2'58.725 3= 3'01.234 4= *2'55.687 5= P3'25.471

53 CRE N HEAFWFKRAWVWANEFT S5y -—-IHRKYai—Yay X PT:1EH

1= 2= 3'01.398 3= 3'05.462 4= *2'59.171 5= P3'45.687
54 C3RT KX H A RX38
1= 2= 2'55.751 3= 2'56.844 4= *2'49.552
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B Gr. Time Attack 1[@1 B
Lap Time Chart

EFEFEABBUIUWNWATWNET --- CRZ PIT: 1H

2= 3'05.749 3= *3'00.339 4= P3'21.177
BB v-—FPT1H

2= 3'14.577 3= *3'02.564 4= 3'20.513 5=
5 X MR2 PIT: 1H

2= 2'58.331 3= 2'59.334 4= *2'54.042 5=

B RAEROCRERBELCEOLBVKRIECR 220FF 1

2= 250743 3= 253052 4= 246229 5=

B ZILFyY7 PIT:1ME

2= 339766 3= 301.744 4= %257.731 5=
RIZPAVF7 — NWZDH B T 34 7 37 PIT: 1

2= 301950 3= %256.782 4= 421534 5=

EBHBEBELCE LMTEDNDET . YEYD TypeR

2= 320213 3= 308276 4= *3'03.751

g8 ZPT1H

2= 256046 3= 247966 4= 247049 5=

8 & MINI JCW PIT: 2[E

2= 5'30.795 3= *3'02.785 4= P3'45.909

B HFEzZOo>hWIEEBEDE~ M 717 L T 4Z PIT:1H

2= 3'01.030 3= *2'58.357 4= 3'29.623 5=
% #  Viz PIT: 1

2= 3'06.046 3= 2'50.300 4= *2'50.083 b=
£ & 86 PIT:1[H

2= 3'03.104 3= *2'54.195 4= 2'56.268 5=

2013-01-06
WEATHER : Fine

COURSE : Dry

FHEL—203—X

P4'07.012

P3'42.245
7L yY PIT:1H
*2'44.032

o2}
1}

P4'20.122

P4'07.390

*2'46.908 6=

P3'41.678

P3'10.132
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1]

2'54.218

P4'33.701

P3'58.414

P4'22.498



